
ANSWERWITHEXPLANATION [SET–17]

1.(d)

2.(a)

3.(b)

4.(b)

5.(c)

6.(d)
Bananaisafruit,Gingerisastem.

7.(b)
10001+100=10101
101+100=201

8.(c)
–2Series

9.(d)
+2,+1series,exceptGIK

10.(b)
Shirtisusedtowearintheupperbodypart.

11.(b)
1+4+5=10(even)
5+8+1=14(even)
6+5+1=12(even)
4+6+3=13(odd)

12.(d)
‘TEARS’;Thereisno‘A’inthegivenword.

13.(a)
+2Series

14.(d)

15.(a)

16.(a)

17.(b)
StudyofTree=>Dendrology
StudyofAnts=>Myrmecology

18.(c)
12³=1728
28³=21952

19.(d)
ExceptBhangra,allotherareclassicaldancesofIndia.

20.(c)
ExceptAltitude,allotherareclosedfigures.

21.(a)
1/7isarecurringorrepeatingnumber.

22.(c)

23.(a)
Asperthepattern,nextterm willberStUV



24.(d)

25.(d)

26.(c)
efgh/eeffgghh/eeefffggghhh

27.(a)
12–1=0
22–1=3
32–1=8
42–1=15

28.(a)

29.(b)

30.(c)

31.(b)

32.(d)
‘IDEAL’,Thereisno‘E’inthegivenword.

33.(d)

34.(b)

35.(c)
17quadrilaterals

(36-40):

Box Element

N Colour

O Watch

K Diary

M Spoon

L Pencil

P Jewellery

J Cookie

36.(d) 37.(b) 38.(c) 39.(d) 40.(b)

[Ifanyqueryaboutthesequestionspleasecontact8167092555from 10am to6pm]


